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Multiplication   

Multiply horizontally :

Name - _ _ _ _ _ _ _ _                                         Start time - _ _ : _ _            End time - _ _ : _ _ 

9 x 61 = 

8 x 55 = 

5 x 54 = 

8 x 17 = 

10 x 37 = 

0 x 70 = 

2 x 39 = 

12 x 55 = 

12 x 20 = 

12 x 7 = 

11 x 46 = 

80 x 6 = 

73 x 5 = 

91 x 9 = 

81 x 3 = 

62 x 5 = 

16  x 6 = 

70 x 2 = 

35 x 3 = 

14 x 8 = 

57 x 2 = 

59 x 5 = 

There are 214 groups of rabbits in a jungle. Each group has 8 

rabbits, calculate the total number of rabbits in the jungle ?
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